SECTION A

1. Identify the compulsory attribute of <img> tag of html. 1
(A) width - (B) height
(C) URL \/@ sre
2. What is the use of Ctrl + S in a presentation ? 1
(A) Open a presentation
(B) Closea presentation
(O~ Savea presentatlon )]
(D) Printa presentatlomzz
1

mbered li

8.  Which of the following is u%gd to create nu
(A) <nl> gﬁt UB)  <ol>
(C) <ul> | ) D) <«d

4. Which among the followmg category of

C++?
M string : 0

(B) mathematical

uabx(x) function in
1

'\
9’1'

aying the text "OCTOBER" in

(C) character
(D) text

Which of the fo
UNDERLIN »

Jp()

(B)

(v éo ‘
<uline> OCTOBEQ:hne> _

6. Which element does not have corresponding closing tag ?

erhne>

(A) Empty element
hy

(B) Container element P

Jey  Paired element :j

(D) Grouped element gg
' [
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gment. Assume all

Find the output produced by the following progr am S€
header functions are included.

void main()

{
int x = 112;
int *y = &x ;

cout << *y;
}
(B) &x o

(C) *y \
D) *112

7.

8. Which of the following attrlbutes is us

i Cl idth of the i of the image
in HTML ? 1

size

(C) high

9. Whlch of the followmg al
< align >

| (C < text > &
10. Which compon
(A)

Slide pane
11. % he following 19gure of Word Processor ? -
e can insert ima, Ee
We can use Find and Replace

\}P/ We can use Spell Check
All the above

W1
e &le webpage ?
%Impress window ?

Title bar

MS Word | (B)  Impress
(C) OpenOffice Calc All the above
O
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12, &h among the following is an example of Spreadsheet software ?

[ Contd...



140

16.

17.
18.
19.

20.

. . ’ m
Which tag is used to create a horizontal lifle in a webpage [ S
o
What is the header file for fabx(x) ? e
What is the ASCII value of ' D' ? =
Expand IP Address. - T /., ‘ /)M/@(J
68/MAY/3-330-A] 5 %?

Expand INTERNE

The octal equivalent of (7 32)19 1s _i%‘_

M
What will be the output produced by the gogr itk g 0em Betowit thlose s
of the variable x is 24 ? t:;«

S—g— B

#include <iostream.b>

int main()
{
int x;
int y:
cin >>Xx;
y = 8;
if (x/ y > 1)
cout << ﬁGoo Ev

else _
cout é<w
} g

imal equival@ (FBD)4g is




le ch is erg;ered as D' ?

#include <jiostream.h>
void main()

{

char ch;
cin >> ch;

}
} é
2%/ What at
#inglud,ostream h>
int maifn()
, { .

int

Sy switch (ch)

' {
case 'A'
cout << "A Grade" ;
break; :
case 'B'

! cout << "B Grade"

i ‘ break; '

’ } case 'C'

C f cout << "C Grade" ;

,f break;

case 'D'
cout << "D Grade"
break; AT
default :
cout << M

while (i < 4)

{

}

o

8=s*i,.
4+

it s L WW;}S
g He 1l |
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_24— Consider the program give
value for the variab
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g3, What will b the output R5educed by the pejgy, oo
~ iostrean. B3 el 1

ginclude i
e i

void main :a
{ L

H:
struct emp

{
int eno /

float sal /

}:
struct emp E;

A A

g sal = 82901; L

cout << E.eno << E.sal;
i

} i W§
. [‘%l
924. What is Statementl in thélpro
(assume all header files are,i

void modify(ix

void main () Q
‘ V&
: i ¥
&)

N - KO, e

fy(a); 9 |

cout << "a = " << ?é

}
void modify (int b)

{
b = 30;
cout << "a = " << b;

)
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25.

26.

=

Fill in :
@ % 5/\4 | requires ofstream.h header file.
(b) Lgm‘d_&ﬁ%pens the file in output mode.

State whether the following statements are T, . .
(a) In the C++ statement, char *a = “C++”,a18ac

the string "C++". — TW/(/Q/ . ¢
s of an
(b)  Object pointers cannot be used to access the public member

rue or False :
aracter pointer to

object. — é 3 ‘
27. Give one word for the followihg ; o h E
(a) The data in a spreadsheet can be pictoria sented throug
Tabled gud oAttt t— : .
(b)  Formula is used for M% 2
SECTION
28. (a) What do you mean by full ¢
OR
(b) What do you mean
29. (a) Define database.~
RN,
(b) What do y&a
307 Write SQL queriesifor the ing based on the below given TRAIN table. 2
- TYPE
EXPRESS
BLR-CHENNAI 500 ]"‘VANDE BHARAT j .
' [
T003 DEL-MEERUT | 450 '| VANDE BHARAT D
T004 DEL-HYD 3100 | RAJADHANI |«
T005 CHENNAI-PUNE | 1300 E
XPRESS :

| BAPRESS .|
Insert th -

nsert the record T006, BLR-ERS, 750, EXPRRSS, _ fub

Display the details of the Vande Bharat Trains
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Name the two types of seroll bars availap)q ; nW
ri

mn HTML and prOv/i AW

31.

g2. Define container eleme 4
c—? ( LT ) &iw?)%eg © 1 @'v ke( E:Il example. : p

vl - e e b
-~ #include <iostream?2§§> : Qs 6(7 oe . o
2

#include <string.h%#r: | ULCX W ™
i o W

struct CLASS

{

char classname|20] :
i

int str; :
}:

void main()

Complete the above codé‘gor the following :
Statement 1 : Create two*_z)zlgjects clan type CLASS.

Clald | T2

Statement 2 : Display the yalue of the variable classname of the
112 =3l 7

Structure Variable classl. T@/Q/b %{,&? e
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' : ble :
[34YF (a)  Write SQL queries to create the below g1Ve> 'TRAIN table

,, ceiiba |

| TRAINNO | VARCHAR() | PRIMARY KEY

TNAME | VARCHAR(S) [hudtort Ko .
DIST INT(4) e (e . *

TYPE CHAR(15) Fb.,uj’m/’ﬁ/%
‘ N

OR

@ Define char datatype with an example. — R ‘3%7( "

{ ’ 2 |
AHM AR ach U e .

b
WWM

page with heading

35. Define the following terms (Any Two) :

(a) Class — C&A&WOH @é QW f/‘

(b) Members
(c) Default Constructor
(d)  Nothing to do Constructor .-

36. Create a webpage using t

(a) Heading 'Exam
size 4. = A P
(b) The Par e good" aligned towards
: u T FY ealan( SAA a;

1le n}ame "NI S2024.jpg“ With a 8)3:}: /LIT
R ¢

6 acd ¢ )
37. ne the following terrr@y Three) : A /O? 3
(a) Conceptual data model — ]DJCC/ Oa//o(/w(/ A »_
(b)  Schema % a4 o o W
(¢c) Key— M (fj %é/ TUALS LA L/C(/LW
o A %/Uc beHTh &%W@A« \
(@ Cardinality . , ), 4 & / ek p
1

4 =L
. . B [ Contd...
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?nswer the questions from (i) to (iv) based on the code given below
assume al] header files are included) : : 4

class Students {

" int Rollno; ;:z
char SName[20]; &
float Marksl;

protected: g&
void Result();ﬁﬁ
public:

Studentsent () ;

3 void Enroll();
void Display() ;

class Teacher (
long TCode; \h/
char TName[20];

protected:

float Salary;. &
public:
- Teachers

void Enter (

void §h

ong CCode[10]

tudents, private Teachers { | i

char CourseName[50];

’Q r
char StartDate[Sgg EndDate[8] ; s ‘ L&/ ng5k?j7 /

"y

ublic: - ¢\ O/l ¥
zouasz(); B 2k ng‘) - [ 3
hdhvt SlciijUCAfﬂ,»

void Commence();gz
void CDhetail() ;

Cr
y 7o

| 11 ' o [ Contd
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are accessible

(] Plptc )

\())/ Write the names of member functlons,
from objects of class COURSE

@ Write the names of all the dat ers, which is/are é
accessible to member function C nce of class COURSE.
1)) Write the names of all the hich are sccessible “
- from objects og class Teach > ﬁa enbt > 7 y %

iv) Which type of Inheri ' the above C++

; d passes to a functlon the function will perform (a+ * (b+b)
a) * (b+b) to
/ he main program which will display the output to the user. 7




